
Introduction
what is statistical
mechanics ?
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Properties only depend on

average over states

statistical properties of the system

Average:
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→
can measure



What we measure is average of

A overall microstates
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If Quantum mechanicariel :

states are discrete
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Clearly we need to know Pex:)
if P is simple we c- corpse

any average property of
our system

Probalitiy Distribution :
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Examine @ N
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T temperature
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Z is a # → how does this

tell us anything
Example < Etotal > = 471 >
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for 710
2- = 1¥. 2R= ¥p
far next time

what is <E> ?


